SAP ABAP table ICLH ICLHG6A ALV {Reimbursement: Reimbursement Header ALV (Repetitive)}

TCURC
ICLH ICLH6A ALV-CURRENCY = TCURC-WAERS MANDT [CLNT (3)]

- WAERS [CUKY (5)]

-7 TICLOO4

" ICLH_ICLH6A_ALV-SUBCLTYPE = TICL004-SUBCLTYPE _ 0N CLIENT[CLNT (3)]
. "7 | SUBCLTYPE [CHAR (4)]

-- TICLO60

ICLH ICLH6A ALV-LOSSTYPE = TICLO60-LOSSTYPE _ _ 0N CLIENT [CLNT (3)]
o " |LOSSTYPE [CHAR (4)]

N e TICL140

_ICLH_ICLH6A ALV-REPTYPE = TICL153-PDOCCATTYPE 0..N [CLIENT [CLNT (3)]
Tt~ STATUS [CHAR (2)]
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ICLH ICLH6A ALV-PAYFREQPLAN = TVS010B-PKEY  0..N [CL/ENT [CLNT (3)]

T PDOCCATTYPE [CHAR (3)]
T TVS010B

—————————————— MANDT [CLNT (3)]
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